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2.

3.

Which metal has so far not been

discovered in Harappan sites 7

(&) Copper

(B) Gold

(C) Silver

(D) lron

The major food fuel during exercise of
long duration is

(A) Fat

(B) Protein

(C) Carbohydrate

(D) Mone of these

Which of the foellowing is not an

important industry of Chhattisgarh from

the point of view of production 7
{A) tron and Steel

(B) Cement

(C) Chemical

(D) Aluminium

1. wEen e e § and o fm g A

i A gi # 7
(A) T
(B) =
() =

(D) =i

> e T O W e R e

(A) T
(B) WA
(C) FHIEELE

EREELEL

9. et § & 99 30 6 g adag

w1 W e
(A) SrETERI

(B) H=

(C) taaA

(D) wegiifas
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4.

In a class the average weight of 150
students is BO kg. The average
weight of boys and girls is 85 kg and
70 kg respectively. The number of
girls in the class is

[A) 60
(B) 70
(C) 80
(D) 80
Remains of which animal have not

been discovered in the Indus Valley
Civilization 7

(A} Lien
(B) Horsa
(C) Cow

(D) Elaphant

The body which controls the
participation of Indian teams in Olympic

game is

(A) AAFI
(B) 10C
(C) 10A

(D) OCA

4 va Fan ¥ 150 fenfifat = ofom wm
80 f&.m. & | wan  wed o sl
aftea v wa: 85 o, afw 70 f&om.

# | =wen & wrghiegl = wemn 8
{A) BO
(B) 70
(C) 50
(D) 80
5. Tm wy) % sy fimg o v | o
LN
(A) =1
(B) |
(C) =
(D) il
6. siferfers F wfy wm w01 & vl v 9w
#1 T Fram Twn
IRAR L
(B) =118, =0 i,

(C) =T, 3.1,

(D) =7, w1,

3]
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7. Bhilai Steel Plantis a 7. Toend e v U TTEH
enterprise. 7l
(A} Public sector (A) mEfafE
(B) Private sector (B) Fsh
(C) Co-operative sector (C) we=

10.

(D) Public-Private joint sector
Which of the following is not a
measure of central tendency 7
{A) Mean

(B) Median

(C) Mode

(D} Variance

Rigveda consist of total
hymns.

(A) 1028

(B) 1017

(C) 1128

(D) 1020

The term CUE is related to
{A) Badminton
(B) Basket ball

(C) Base ball

(D) Billiards

i,

10.

(D) TEwiER- el

Frefirfian # @ w1 w0 S v
ELik A

(A) =T

(B) e

(G} FET%

(D) wET

T 1 w=a ¥ |

(&) 1028
(B) 1017
(C) 1128

(D) 1020

‘o' T e R
(A) Azfivza

(B) WWhe W
(C) #m ==

(D) e

al
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11. Which one of the following type of 1. i § ¥ oF wen A

climate in Chhattisgarh State 7 TR T 7 e R 7

(A) Humid South-East (A) aqﬁ-aﬁqw—tﬁf

(B) Sub Humid transitional (B) 8 waofig

(C) Sub Humid Littoral (C) Fums g

(D) Sub Humid continental (D) =z merferii
12. Gautam Buddha attained Nirvana at 12, e g 3 o v 0 fefor sy e 7

A .

(A) Kushinara (B) s

(B) Sravaste

(C) wyeafti
(C) Lumbini
(D) Samath (D) |
13 g B o o e e o arfrem

13, Which of the following planet takes a2

maximum lime to revolve around the R '

Sun ¥ (A) g

(A) Earth (B) FeEfy

Jupi .
(B) Jupiter (©) T
(C) Mars
(D) ¥
(D) Venus
14, hEt w0 e we & w7

14.  Federation Cup is related with

(A) Men tennis (A) gow 2w

(B) Women tennis (B) wiea 2w

(C) Men Hockey (C) 759 evbit

(D) None of these (D) #id =7
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15. Galvanised iron is coated with

16.

17.

18.

{A) Aluminium

(B) Galena

(C) Silver

(D) Zinc

Chhattisgarh region receive its most

of the Monsoon rains from

(A) Bay of Bangal Branch

(B) Arabian Sea Branch

(C) Indian Ocean Branch

(D) Retreating Monsoon

Which one of the following was not a
Capital of Magadhan Empire 7

(A) Girivraja

(B) Rajgriha

(C} Pataliputra

(D) Kosambi

Sachin scored 100" century against
which country in international cricket ¥
(A} England

(B) Australia

(C) Pakistan

(D) Bangla Desh

15, freafia @ie w o g
(A) Tmfifram =
(B) fem =
(C) =t =
(D) o =

16 e waw s sl T a
T
(A) e W) T e @
(B) ST T #
(C) e wvw o @
(o) e g e

17, Frefafn § # ®59 oF oy e ©
Ty e W T
(A) farfe=
(B) TR
(C) el
(D) =
1g, wf 3 fre A H B % Bee 100
T Sy i) | w7
(A) s
(B) smezferm
(C) i

(D) T 3
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19. What metals constitutes brass ?

20.

21.

(A) copper and nickel
(B) copper and tin
(C) copper and zinc

(D) copper + zinc and nickel

The most minaralized rock system of
India is

(&) Dharwar system

(B) Vindhyan system

(C) Cuddapah system

(D) Gondwana systam

Which one of the following Asckan
Inscription |5 in “Kharosthi® script 7
(A) Khalsi

(B) Girnar

(C) Shahvajgadi

(D) Meerut

Name the Indian Gold medal winner
Hockey team Captain which had won
1975 World Cup 7

(A) Aman Singh
(B) Ajit Pal Singh
(C) Roop Singh

(D) Sandeep Singh

|
1

19, dige § Fee ags = wam g d 7

(A) amn wE e
(B) @ uE =
(C) i ug s

(D) @ + = UE e

20. WA =1 T wegw few 8

21.

22.

(A) umETE | 79
(B) frem fm 3

(C) o 9= i
(D) Ti=amE 9 5

P § B %9 |1 2190 e diaeng
M) fafo iR 7

(A} RTETE

(B} farm

(C) MEamEEl

(D) iz

1975 & vl vaw faer famm &9 g %
v i F wem e g 7

(A) w1 e

(B) arsfta wi= fie

(C) = fim

(D) =& fis
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23.

24,

Pencil lead is

(A) Charcoal

(B) Coal

{C) Graphite

(D) Lamp Black

The richest Biodiversity in India is
found in

(A) Silent Valley

(B) Valley of Kashmir

(C) Valley of Flowers

(D) Damodar Valley

The Capital of Maukharii was
(A) Thaneswar

(B} Kannauj

(C) Purushpur

(D} None of above

Name Youngest Indian climbed Mount
Everest

{A) Dhananjay

(B) Ravinder Kumar

{C) Abhinav Pandey

(D) Arjun Vajpai

23, HRm ol
(A) TS F R
(B) Frae
(C) T
(D) v =

24, W W wit e e o TR
(A T
(B) Wi art
(C) et i v
(D) ZwevEy
26wt el O e o |
(A) wTHER
() &=
(C) Femt
(D) Feda # o
26, WIAVE UG 1 wE w4 At @ @
Hrela AR 7
(A) "=
(B) iz Fuw
(C) wfira a2
(D) sraf T
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27. Tha Ozona layer lies in the

28,

29,

a0.

{A) Photosphere
(B) Troposphere
(C) Tropopause

(D) Stratosphere

Sriharikota Island located near
(A) Chilka Lake

(B) Mouth of the Mahanadi
(C) Pulicat Lake

(D) Mouth of the Godavari

How many Jyotirlingah ara there
devolad to Lord Shiva 7

(A) B

(B) 12

(C) 24

(D) 18

Who was awarded with 15t
Padmashree in athletics ?

(A) P.T. Usha

(B) Milkha Singh

(C) Bandhu Singh

(D) Mone of above

27, st ol et s d

(A) W7 HUEE o
(B) s gz= §
(C) =i dim o

(DY) AWaT AU |

o, sfiefrrz g, it ?

29,

30,

(&) et 3 3 v
(B) WEHEl & HgH & #Him
(C) ez 3 % wi
(D) e & e & adf

wirar fir ) witen o frm soifafedn
it B 7

(A) &
{B) 12
(C) 24

(D) 18

et 1 vee s fam
(A) didam

(B) fireran fae

(C) =y fie

(D) T & = =

ol
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31.

33

Which of the following is found in the
composition of Vitamin ‘D" 7

(A) Ascorbic acid

(B) Calciferol

(C) Folic acid

(D) Relinol

In which part of India, the daily range

of temperatura found greater 7

(A) Eastern Coastal areas

(B) Interior areas of Chhattisgarh plain
(C) Andman Islands

(D) Desert areas of Rajasthan

The Sun Temple of Modhera lies in
which state 7

(A) Bihar

(B) Gujrat

(C) Odisha

(D) Bengal

The 1% Commonwealth games were
held

(A) 1830 Hamilton

(B) 1934 Australia

(C) 1935 India

(D) 1940 Pakistan

3. fefim-ddfmdasmomami !
(A) TrRTTsF 70
(B) wfetrthars
(C) wifers e
(D) IR
32, wma & frw v # waifts qs-amem
T S 7
(A) it W
(B} weftang ffam % i i
(C) arzam @i
(D) Traea % e 6§

13 wmwm o Rn o w7
(A} frem
(B) T
(C) sifam

(D) =

34, e FIOEw T g g
(A) 1930 #fieza
(B) 1934 wmform
(C) 1935 wma

(D) 1940 Tl
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438, Which Vitamin is water soluble 7

ar.

(A) Vitamin A
(B) Vitamin B

(C) Vitamin D

(D) Vitamin E

Hasdo Valley in Chhattisgarh is
famous for

(A) Iron ore mines

(B) Coal mines

(C) Bauxite mines

(D) Dolomite mines

In which country Is the “Angkor-vat
temple” complex located 7

(A} Indonesia

(B)] Myanmar

{C) Sri Lanka

(D) Kampuchea

Name the person won Gold Medal in

2008 Asian Gameas Shooting in China
under individual category

(A) Rajvardhan Singh
(B) Abhinav Bindra
(C) Liyandar Paas

(D) P.T.Usha

35, f= & @ # o fefm oe § geeefe

27

{A) Vitamin A
(B) Vitamin B
(C) Vitamin D

(D) Vitamin E

6. wiirTg # gEeE v frem R

a7,

(A) w1370 waEl & fo
(B) =reren @t & fom
(C) Wz Wi & ferg
\0) Bt wEEl * fo

SR T wiea wE B e fEm R 7
(A) F=HfEm

(B) TR

(C) e

(D) Fgferm

irfim T 2008 < # R e S afi
T =i wfeifia i 1ol vew o ?
(A) T fEw

(B) arfira famzn

(C) ferge T

(D) & .am

11 |



A T VAT YRTFHG TI&T 2011 : HATT IFEIIA UH-UF 1AcRAN
£ Josh

your guide to success

39. SONAR is mostly used by

41,

(A) Astronauts

(B) Doctors

(C) Engineers

(D) Mavigators

Dalli-Rajhara mines of Chhattisgarh
are famous for

(A) Gold production

(B) Manganese production

() Iron ore production

(D) Bauxite production

Which ruler of Bengal founded

the ancient University called -
"Vikramshila" 7

(A) Dharmapala

(B) Gopal

(C) Devpal

(D) Mahipal

A person swims upstream 11 k.m. and
down stream 26 km. taking 5 hours

each time. The velocity of the current
of the river is (per hour)

(A) 1.5km
(B) 2 km
(C) 3km
(D) 3.5km

39. HFR Fre vam & S am
(A) siafy aif¥t gm
(B) =l am
(C) Fitfrml g
(D) Hrer=rerel g

40. SeiferTg i gt -Taen e wfig #
(A) T e ¥ R
(B) i e & R
(C) =i -3raew IeameA + fag
(D) &gz IeqmEq # famu
41. Fawafien ams e e faem 6
TN S o T e ) 7
() e
(B) vt
(C) ¥
(D) wEra=
42, v =i 5 6 A 7 i um o wwm
et famm o 11 fe . ot 9 @

w4 ) g % wwm & Bm § 2 5o
A & | = am (e

(A) 1.5 f%
(B) 2f.di.
(C) afea,
(D) 3.5fk

12 |
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43. Pyromatar is for measuring
(A) Air pressure
(B) High temperature
(C) Humnidity
(D) Earthquake
44. Total number of districts in Chhattisgarh
at present
(A) 20
(B) 27
(C) 25
(D) 18

48, Amir Khuaro was a
(A) Poet

(B) Historian
(C) Musicologist

(D) All of the above three

48. A train of length 110 m passes a pale
in 3 seconds. How much time it will
take to cross a railway bridge of length
165 m (seconds) 7

(A} 5.5
(B) 7.5
(C) 8.5
(D) 11.5

43, g Fe 3 A S W wen

2

(A) FTgE
(B) 7= 999
(C) =

(D) gz = e

44. gdum § wedtomg ven | wavEt it gem

48,

(A) 20
(B) 27
(C) 25
(D) 18

SR R T ol
(A) R

(B) sfimman

(C) wfiag

(D) 35g i

w3 (e 110 ©.) fet e w
3 #F-2 § TR =l # | 99 37 feet el

0 (et 165 . ) o w # Bren wr

(A) 5.5

(B) 7.5
(C) 8.5

(D) 11.5

13 |
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47.

Which is NOT insect amaongst following 7
(A) Butterfly

{B) Cockroach

(C) Mosquito

(D) Spider

Mangrove (Tidal foresls) vegetation
in India is mostly found in

(A) Malabar coast

(B) Sundarbans

(C) Rann of Kachehh

(D) Dandakaranya

Which European traveller came to India
during the region of Aurangzeb 7

(A) William Hawkins

(B) Thomas Roe

(C) Antonia Monserrate

(D) Petar Mundy

In what ratio sugar at Rs. 32/kg
should be mixed with sugar at

Rs. 37.50/ kg. in order that the mixture
is worth Rs. 34,50/ kg 7

(A) B:3
(B) 7:4
(C) 5:6
(D) 6:5

47, PoddREE At

(A) Frash
(B) foerm

(C) =1

(D) Wt

48. WA # FE (S ) e e

Tt T A
(A) HemT 7
(B) gzt
(C) == F1 11
(D) ZzamTg
49. st & w= d FR gt e ama
B
(a) Rferm efewm
(B) #mE O
(C) vt we
(D) e w=d
50. % 32/ famei i == afw 5. 37,50/ fRe

i ol &) b s & firee w e
e 5. 34.50/ B Em 7

(A) B:3
(B) 7:4
(C) 5:86

(D) 6:5

14 |
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52,

53.

Concave lens is used to comect

(A) Cataract

{B) Hyparmetropia

(C) Myopia

(D) Presbyopla

Which among the one following river
does not make a delta ?

(A) Mahanadi

(B) Godavari

(C) Narmada

(D) Kaver

Akbar launched “Din-i-llahi® in the year

(M) 1570
(B) 1578
(C) 1581
(D) 1582

There are 6 steps for moving from first
floor to second floor. Any hwo persons
can not be on the same step. R is 2
steps above P. Qs 1 step above S and
Ris 2 steps below S. It P is on 15! step,
then Q is on _ step.

{A) Third
(B) Fourth
(C) Fifth

(D) Sixth

£ Josh
51, EAe o W T gew ¥
(A) mifFRg
(B) ¥ g2
() Pz g2
(D) T 3=

52, Pi=ifea § & 399 % 78 2w = Fuin
i et 7

(A) =ETE
(B) Tt
(C) =
(D) T
53, s dA-u-gedt el
o wwe T |
(A) 1570
(B) 1578
(C) 1581
(D) 1582
54. woH Aw & fedtn e o & e 6 el
HE R R i il
s # R, PR 2Rl FwR, Q S

i am sl R, S & 2 ddil T2 3R
P ugell Hift w B A Q FA W R 7

(A) oh
(B) <l
(C) ofeet

(D) wt

15 |
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§5. The important metal used with iron 55. = 1fed e FArt § e g vgeaq

to produce stainlass steel is qmﬁl

(A) Aluminium (A) Tt
(B) Carbon (B) w4

(C) Chromium (C) Fftrm
(D) Tin (D)

56. The winter rainfall in Chhattisgarh
o 66. wiftemy a7 d ewret vl e

area is mainly due to one of the

e o 4 freft 2
following
A) wted i
(A) Retreating monsoon (A) g0 A
(B) S.W. Monsoon (B) 2.9, WA #
(C) S.E. Monsoon (C) 2.9, "Wy &
(D) wfwmdt it &

(D) Western depressions

57. Which company started the First 57. Form et 3 el wuw wree  ter e o

Rallway Service in India ? #7

(A) Eastern Railway (A) =t =

(B) Great Indian Peninsula Railway (B) #2 sfdaa dfmgm =
(C) Madras Railway (C) wzm =

(D) Awadh-Tirhut Railway (D) w=y i?ﬂga’{ﬁ

16 |
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8.

61.

A, Q.Y 7 are different persons. Z is the
father of Q, A is the daughter of ¥ and
Y is the son of Z. If P is the son of ¥ and
B is the brathar of P then

(A} B and Y are brothers
(B) A is the sister of B
(C) £isthe uncle of B
(D) Qand Y are brothers

Which is the highest mountain on earth 7
{A) Mount Everast

(B) Kanchanjanga

(C) Lhotse

(D) Makalu

Which ona of the following pair in

Chhattisgarh is not correctly
matched 7

{A) Raipur — State capital

(B) Bharatpur — Rice milling centre
(C) Durg-Bhilainagar — Industrial city
(D) Khairgarh —Golden city

Which letter would be placed in the
empty box 7

BDGKI]
(A) O
(B) P
(C) Q
D) R

58.

59.

60.

61.

AQY 2 im-fm=fd 1 za= fmd
smayfightahy zmamd R
PY® g8 PEI AT B2l

(A) B ¥y wi-urd #
(B) A, BFr1am 2
(C) Z,B=i=rd
(D) Q&Y wr-wrd &

W wad I v 7

(A) WiFZ TERE

(B) F=ram

(C) wireH

(D) et

Frrifara § w8 %im v 0w
e el # 1

(A) TR~ T4 i T
(B) YA = famt %1 &%
(C) i -Rremdn— sfwife Tr
(D) dmrg— want e

frm wama W wNA T s f
BDGK[]

(A) O

(B) P

(C) O

(D) R

17 |
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62.

64,

How many bones are in Shark Fish 7
(A} 100

(B) O

(C) 200

(D) 300

Maximum rocks extension in
Chattisgarh is

{A) From Duccan Trap
(B) From Cuddapah Trap
(C) From Dharwar Trap

(D) From unclassified crystallation

Which one of the following pair is not
correctly matched 7

Steel plant Collaborating country
(A) Rourkela Germany

(B) Bhilai Oid USSR
(C) Durgapur LK.

(D) Bokaro U.5.A,

In which of the following parts of India
are the largest reserves of mineral 7

(A) West
(B) South
(C) Morth
(D) South east

62. & woeh # e et e & 7

(A) 100
(B) O
(C) 200

(D) 300

63, oeETg 1 wad o7 A e Eem R

B5,

(A) T 20
(B) F=o7 39 F

(C) graETE &= &

(D) rafiFa Waw =z #
64. T i i v g it A 7
T T weaTdt &m
(A} TatdEn )
(B) T T 7, THE AR,
(C) i 7%,
(D) ST SRR
amd & = 1 @ e vm o wfiE e
& HaH 72 MUER ? 7
(A) fgem i
(B) =famm o
(C) T |
(D) =fim o &

18 |
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66. How many squares are there in the 6. P Rod Fmiaid?
given figure ?
|

(A) 25
(A) 25

(B) 29
(B) 29

(C) 30
(C) 30
(D) 32 (D) 32

B7. HEE-=1E
67. Frogs are cold-blooded animals i e &

(A) True (A) et
(B) Falsa (B) e
(C) MNona of the above (©) i B
(D) All of the above
(D) FwiFa @i
G68. Which one of the following statemeant
is not correct about Chhattisgarh 68, FieTifEa 1 599 |1 us wua @ T
State ?
¢ 35 gpears B 7
(&) The State is predominently an
agricultural area (A) T8 =1 qEAd: TF FH CER
(B) More than 75% of its population (8) T 75% EN S ——T
lives In villages
Fanfe &
(C) The agriculture here depends
largely on rainfall (C) ==t it Ff 7w w0 maiE 2
(D} The agriculture economy of the (D) i T 3 £ e i

State is characterzed by plantabion
farming =Tt R

19 |
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69. Which of the following district of

71,

Chattisgarh is the smallest in term of
area 7

{A) Dantewade

(B) Kawardha

(C) Raipur

(D) Durg

How many minimum number of
different colours a painter must use
to paint the figure below, so that no

two adjacent regions have the same

colour 7

-

(A) 2
(B) 3
(C) 4
(D) 5

Dogs are harbivores
(A) True

(B) False

(C) Mone of the above

(D) All of the above

9. Wit & Fre el § deee F g E

B g 7
(A) Tl

(B) #ETHl

(C) TR

) 7

70, v tan fam = o famwm TR % TR

= fora e -7 {1} s
1R 31 ST -ATE & aiE A € T
W o 7

(A) 2
(B) 3
(C) 4

(D) 5

71. @nmnga}qﬂ:mmﬂmﬁ

(A) wt

(B) e

(C) T 7 A % Tl
(D) v o

20 |
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72.

73,

74,

The reduction of voting age from 21
years to 18 years for the Lok Sabha
and Legislative Assemblies was
done through

(A) Fifty-Ninth Amendment, 1988
(B) Sixty-First Amendment, 1989
(C) Sixty-Fourth Amendment, 1990

(D) Seventy-Third Amendment, 1992

Which of the following is not a reason
for loss of agricultural land in
Chhattisgarh 7

(A} Expansion of roads

(B) Urbanization

(C) Industrialization

(D) Expansion of irrigation facilities

If Chandra is shorter than Reena,
Puja is taller than Sita and Sita is
taller than Reena, who among them

is the shortest 7
(A) Puja

(B) Reena

(C) Sita

(D) Chandra

72, wEEW A Ue frammwst ¥ R

walfeERR 6t 3 21 36 & wzew 18 T
& 77 oft

(A) 59 9 Hyine 1988 gR1
(B) 61 & gvinm 1989 T
(C) 64 F H9te= 1990 T

(D) 73 < Higa 1992 gm0

73, Pt d o v v g

G e A
(A) Tl frem
(B) T
(C) afrviiw
(D) Fiard i gfen

74, AR = O E FE R, g R R

e i G @ we R, A ol e e
wHE?

(A) T
(B) Hm
(C)

(D) ==z
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75. Who is father of Modern Genetics ?

76,

7.

(&) Gregor Johann Mendel
{B) Hugo De Vries
(C) Charles Darwin

(D) Thomas Hunt Morgan

A member of Public Service
Commission can be remaved from his/
her office under which Article of the

Constitution 7
(A) 315
(B) 316
(C) 317

(D) 318

Chattisgarh stale came info existence
on

(A) 1 November, 2000

(B} 9 November, 2000

(C) 10 November, 2000

(D) 1 January, 2000

75. =R Al AR wm s fH R
(A) T sie dae
(B) &M 2 angE
(C) =med zwfA
(D) @ 2 M
76. W ¥ fm argee ¥ o A o
AT 3 e ) g . w7
(A 315
(B) 316
(C) 317
(D) 318
77, oETg TR wET 8 A
(A) 1 TEER, 2000
(B) 9 =w=t, 2000
(C) 10 v, 2000

(D) 1 sadl, 2000
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78. A city has population of 3,00,000 out of

80,

which 1,80,000 are males. 50% of the
population is literate. If 70% of the males
are literate then number of literate

fermales would be
(A} 30,000
(B) 54,000
(C) 24,000

(D) 0,000

What ls Mushroom 7

(A) Fungi

(B) Plant

(C) Animal

(D) Bacteria

Who acts as the Secretary of National
Development Council (NDC) 7

(A) Secretary, Ministry of Finance

(B) Secretary, Ministry of Planning
(C) Secretary, Planning Commission

(D) Secretary, Finance Commission

78. Tl 7 &Y 3,00,000 ) 59 wE 4

1,80,000 &9 # | 50% 97 T T B |
a2 70% T GrEn g man afrens £
HEm g}

(A) 30,000
(B) 54,000
(C) 24,000

(D) 60,000

UIEN TR Y
(A) waw
(B)

(C) w9
(D) adtfa

80. Tt e vl i wfim & w0l

FH fra 2 7

(A) wfiE, B e
(B) wfi=, 9= vamy
(C) wfag, g armim

(D) wf=E, fm smim
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B1. Which district of Chhattisgarh has the 81, T w1 aaiitE SEeET e
largest area ? T d 7
(A) Korba (A)
(B) Bastar (B) =
(C) Dantewada (C) FETE
(D) Raipur (D) THAYL
82 A box has 2 marbles each of red, biue gp. T da 1 =, A, O e
yellow and green colours. The box is E-Eﬁﬁlﬂﬂtﬁaﬁﬁwﬁmw
kﬂptinadammnmwharethamluum et i 1w
of the marbles cannot be distinguished. , .
arz Bl oft & &) o =TT
A boy wants 2 marbles of the same ' nzmm ? )
colour. How many different marbles he mem & | 36 @@ A W = Fe %
must draw from the box so that he is frrer e i e i ok B
surelhathehasgulzmarhlasnilhn i 21w T e T
same colour 7 '[-"'-} 5
(A) &
B) 4
(B) 4
(C) 3
(C) 3
(D) 6
(D) &
g3, Frefefios # & w9 o W 87
ga.  Of the following which one iz not a fish 7
) (A) = T
(A) Star fish
(B) Saw fish (B) T o=
(C) Pipe fish (C) e i
(D) Guitar fish (D) Firem T
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84. Which of the following tribes is not

found in Chhattisgarh ?
(A) Bhotla
(B) Gonds
(C) Maria

{B) Banias

. Which Article of the Indian Constitution

prescribes eligibility conditions for
re-glection to the post of President of
India 7

(A) Article 52
(B) Article 54
(C) Arlicle 55

(D) Article 57

. There are four relatives, A, B, C and D.

A is three timas older than B. C iz half
the age of D. B is older than C., Which
of the following can be infarred 7

(A) B is older than D
(B) A Is older than D
(C) A may be younger than D

(D) None of these

B4.

B5.

e i @ st s o weflemg &
ardi el & 7

(A) sitfem

(B) g

(C) mrfan

(D) &t

et dim | FR-m A weh

& W2 ¥ fom g Prafem ) ] fffa
e & 7

(A) sg=m 52
(B) gtz 54
(C) #17=i= 55
(D) #7=da 57
A B CamDamfimer# | At mB#
MR ICHmD A amhd B

C # wifirs & | Froafaritem 8 & 99 w1 %
o T A A R 7

(A) BDR#Imd g d
(B) A,DHE=ZI

(C) AR D@ g 2
(D) 7l & i oft
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B7. Which element is the best conductor of

electricity ?

(A) Silver

(B) Copper
(C) Aluminium

(D¥) lron

. In which List the 'Panchayati Raj’

subject Is included ?
{A) Union List
(B) State List
(C) Concurrent List

(D} Residuary List

. Which Is the first National Park of India ?

(A) Kanha MNational Park
(B) Dudhwa National Park
(C) Rajaji Mational Fark

(D) Corbett National Park

. Which will be the next number in the

following series ?
1,8,27,84, .

(A) 125
(B) 138
(C) 81

(D) 100

g7, watfi frgm e e o wn 8 7

89,

(A) 51

(B) M

(C) wrgfatm

(D) =

‘vt T fawm o A 8 fen el
aftafera & 7

(A) wfra T

(B) T T

(C) T g

(D) ¥t F:h

WA 1 G TR T I e
(A) T T IIH

(B) gua T T

(C) Tt et T

(D) %z T FaH
ferferfiaa doft 3 spren o g 7
18,27, 64, ..

(A) 125

(B) 138

(C) 81

(D) 100
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a1,

92

94,

Which country has the status of only
“Dialogue Partner in the ASEAN" 7

(A) Vietnam

(B) Combodia

(C) Singapore

(D} India

The principle “That all people are fully
and equally human” is known as

(A) Universalizm

(B} Holism

(C) Soclalism

(D) Interactionism

In which State Nandadevi Biosphere
Resarve is located 7

(A) Chhattisgarh

(B) Assam

(C) Himachal

(D) Uttarakhand

Hamesh walks 400 metra in north
direction from his house. Then he turns
right and walks 400 metre. Now he
walks in South direction for 100 meters.
How far is he from his housa if the direct
dislance from his housa 1o this point is
laken ?

(A) 500 m
{B) 900 m
(C) 300 m

(D) 200 m

1,

B m w i o Fae Tt arfen
Feaiwa R 7

(A) Ty

(B) wwtiEn

(C) fomgz

(D) wwA

“avft =i e oM gwe v @ T
', faEm I @

(A) wrETiER

(B) wwfeears

(C) wwTarET

(D) 2. fermmame

Fared dita dee fm oea O fom b 7
(A) e

(B) M

(C) femmera

(D) FpEvE

WY 3 W # I 400 e e
wmen # | i aw, @ qe ;400 Fim
&t 3t ™ wm ¥ | 5w A = fan $
AR gEE 100 W R gt w5

A W T g R wnm m #
6k ) it 76 A 7

(A) 500 #Htz
(B) 200 e
(C) 300 =
(D) 200 H=

27 |



uuuuuuuuuuuuuuuu

. Where was the Miss Warld 2011

contest held ?
(A) Calitornia
(B) Paris

(C) Londen

(D) Victoria

. The throe-tier gystem of Panchayati Raj

was initially recommended by
(A) Balwantral Mehta Committee
(B) Ashok Mehta Committee

(C) LM. Singhwvi Commitiee

(D) G.V.K. Rao Commitiee

_ \Whichis the largest river of Chhattisgarh ?

(A) Indravati

(B) Narmada

{C) Mahanadi

(D) Mand

. A particular number when divided by
24 leaves a remainder of 1. If that

particular number is divided by 3 then
what will be the remainder 7

(A) 1
(B) 2
(C) 3
(D) 4

i ?

| ciamd T o Ftm e 6 de

wes # e wfinfa g R 7
(A) ST HEw A
(B) s e wf

(C) &, . e gl
(o) At 3, T i

| o i wet wh R A R

(A) TR
(B) =
(C) wETE]

(D) "e

et mm A 24 B M F W 1 T

8| sy 36 wEm 1 3 & i =
Fo71 99 == 7

(Aa) 1
(B) 2
(C) 3

(D) 4
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100.

101,

102.

Who was the Chief Election Officer in
the UP 2012 election ?

(A} Anita Mesram

(B) Umesh Sinha

(G} Avanish Sharma

(D) Mrityunjaya Kumar

The First Nationalization of Banks in
India was done

(A) In 1950

(B} In 1960

(C) In 1969

(D) In 1979

The Bhagirathi river originates from

(&) Gangotri

(B) Gomukh

(C) Mansarover

(D} Tapovan

In a school of 500 students, 10% do not
play cricket, 20% do not play football,
4% neither play cricket nor football.

How many play football but do not play
cricket ?

(A} 80
(B) 50
(C) 30

(D) Data is insufficient

949,

100,

101.

102,

T vy e wa e 2012 # g
Fafam s

(A) sifen R
(B) Z0m fimsr
(C) st vl

(D) =g 9N

v # Hwi w1 veel aw ol gan @
(A) 1950 #
(B) 1960 &
(G) 1960 ®

(D) 1979 &

srefiref = Fywenh 2

(A) TP H

(B) mm |

(C) HFET &

(D) adrEm &

wF foeem o & 500 5= W §, 10%
it 7= findee 7 e €, 20% FEA
Tl et 2 4% 7 peter de § i

A it e ey 8 | 8 e foamd E <0
Taiel wer & W fnie ol e § 7

(A) BO
(B) 50
(C) 30
(D) Tafs s T 8
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103. What was the number of the Congress

104.

105,

Party women candidate in second

phase Assembly Election 2012 7
(A) B
(B) 9
cy 7
(D) 10
The declaration of reforms on
August 20, 1917 is known as
(A) Montague declaration
(B) Marely daclaration
{C) Minto declaration
(D) Chelmsford declaration
Which of the following states is located
in the North of Chhattisgarh 7
{A) Maharastra
(B) Madhya Pradesh
(C) Uttar Pradesh

(D) Orissa

104, 3.9, % fauE 549 o012 % gEt W F

g i v wiven e 6 Fe
(A) B
(B) 9
(c) 7

(o) 10

104, 20 A 1917 & uwl i drm = 7

= 8

(A) i W i A
(B) T o % A &
() Tt w3 e

(D) dverd dren & A

105. Eﬂﬁﬂmmnﬂmﬂﬁ%m{ﬁ

(A) WERETE
(B) meumaEl
(C) Te0 We

(D) 3k
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106.

107.

108.

There are 21 rows of seats in an
amphitheatre. Each row has 4 seals
more than the row in front, The last row
has 100 seats. How many seats are
there altogether in the amphitheatre 7

(A) 1260
(B) 1200
(C) 1140

(D) 1080

A village in the plain area of India
comes under the Pradhan Mantri Gram
Sadak Yojna, if its population Is more
than

(A) 500

(B) 1000

(C) 1500

(D) 2000

The 'Right to Proparty’ was deleted from

tha List of Fundamental Rights
guarantesd to tha citizens of India by

(A) Forty-second Amendmant
(B) Forty-third Amendment

{C) Forty-fourth Amendment

(D) Forty-fitth Amendment

106,

107.

108,

w01 Hae (tefnfiEe) § €3 21
Fant § | v Fon # 79 9 5 Tl wan

A 4 wme oid ¥ ) sifdm waw d 100 i
# | 7m  viEw o e e R 7

(A)Y 1260
(B) 1200
(C) 1140
(D) 1080
uTA % uoas vew # 8w ofs e

T8 HaF Tr & Sara o § 991 3m vt
1 a1 B

=] T
(A) 500
(B) 1000
(C) 1500
(D) 2000
e wfA-weE 8@ it % gy
o e w5 et 6 g & Freem
T

(A) TafeEEl w9
(B) derefimal weim
(C) et e
(D) Tl weirs
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109. Surguja district is located in the

of Chhattisgarh state.
(A) Morth
(B) East
(C) West

(D) South

110. How many rectangles of different sizes

can be formed by using 24 squares

which are identical ?
(A) 10
(B) 8
(C) &
(D) 4
111. Which country allow Internaltional

Atomie Energy Agency Inspector to

accass military complex ?
(A} Israel

(B} Iran

(C) India

(D) Morth Korea

110,

111,

o4 aed Tl & HEWE § S A

SRR 3 T 3T AR o F §
(A} 10

(B) 8

(C) &

(D) 4

Fir T 3 grEEAE TR T

¥ T 9 el frfied f FEEm
e Ffem e & AR Y

(A) FEUEE
(B) ¥
(C) A

(D) = i
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112. Chhattisgarh state shares its boundries

113.

with Indian states.

(A) 7

(B) 5

(C) B

(D) 4

Final decision on gquestion as to

disqualification of Members of a
Legislative Assembly is taken by

{A) Chief Minister
(B) Govemor
(C) Chisf Justice of tha High Court

(D) Speaker of the Legislative
Assembly

114. Find the value of A and B in the figures

given below.

S

(A) 48, 24
(B) 40, 20
(C) 36, 24
(D) 48, 20

112,

113.

aireTg T e
it T % T et gl

w7

(B) 5

(C) &

(D) 4

e & wwdt i Profed & wafm
vl m rfm fafrem fem % g fen

wrn d 7
(A) el g
(B) TN T

(C) T=a =naera & W s gen

(D) e =T 3 e g

114, o w8 tEnfea # A 3iw B &t 7 =9d

AN
ANV

(A) 48, 24

AN
N

(B) 40, 20
(C) 38, 24

(D) 48, 20
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115. Former U.N. Sacretary-General | 115 u;q‘qm.ﬁﬁia"tqétﬁ = e Emw A
Kofi-Annan visited to which country fen va v & iR A T w1 T
recently in hope of starting peace process T ?
thera ?
(A) FEEC
(A) Israel
(B) WETHEN
(B) Afghanistan
(C) @i
(C) Syria
(D) Egypt (0) ¥

116. qmnﬁﬁuﬁwﬂqiaﬁ‘w'aﬁ
mﬁﬂﬁaﬂwﬂmﬂ:mﬁ:ﬂ

116. Mahatma Gandhi gave the fitle of
‘gardar to Vallabhbhai Patel tor his

great organizational skill in e A o T

() The Kheda Satyagraha (A) T TR 7

(B) The Bardoli Satyagraha (B) A AT #
(C) The Salt Satyagraha (C) e HTE A
(D) The Individual Satyagraha (o ﬂﬁﬁﬁmﬁ

117. The i rth o uth length of |
! maximum nofth 10 50 gt 17, ﬁ’;aﬁnmﬂanﬁaﬁmmﬁzmﬁﬁrﬁ
Chhattisgarh state 15 batwen
g ek

ki,

e —

(A) 500-600 k.m (A) £00-600 R .

(B B00-700% L.

(B} B00-700 km.
(C) 400-500 k.m. ) 400-500F.1,
(D) 700-800k.m. (D) 700-800% .
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118.

119,

120.

In a code language DRINK is written
as SPEAR and BRACE is written as
UPION. What will BRICK be wrilten as
in that language ?

(A) UPEIR
(B) UNEOR
(C) UPECR

(D) VPEBR

What is maximum expenditure limit for
the Parliamentary Elections of a

constituancy 7

(A) Rs. 25 Lakhs

(B) Rs. 40 Lakhs

{C) Rs. 70 Lakhs

(D Rs. one crore

Privilege motion can be raised against
a Ministar whan ha

(A) losas confidence in the

Governmant,
(B) absents himsell for a long time.

(C) withholds facls of a case or gives
a distorted versions of facts.

(D} avoids collective responsibility of
the Cabinet.

118. ft 52 v 8 DRINK %1 SPEAR foraa

# sim BRACE =1 UPION. 38 @ §
BRICK =1 wm ferdit 7

(A) UPEIR
(B) UNEOR
(C) UPEOR

(D) VPEBR

119, Tawm | #rw aw § fafes g & R

TR =48 6 iy i @ 7
(A) 25 FmE .
(B) 40 TITH %,
(C) TOTmE %,

(D) T FE 5.

120. T o % fasg frdrofiesr some 3=

W HE R E e
(A) T o fwam @ 2m
() 0wl e o T ) e e |

(C) Tl oo & et 0 Teen & o we]
=1 ez gan vl

(D) wefivEe & Angfees Faieriie U a=m
2
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121. Generally the slope of Chattisgarh state | 121, HTWT=IE: SeiE =9 %1 21A
istowards e & SR
(A). West (A) e
(B) South ®) =
(C) North
(C) I
(D) East
()
122, Mode value of any series is
122, ot doft 1 e g B B
(A) Middle value
(A) o] g
(B) Value whose frequency is maxirmum
(B) WAt SR a1 §ea
(C) Minimum frequency value
(C) =gfom FRERE T
(D) Limit value ) -
123. When was the resolution to divide U.P. 103, T A 4 B W # At =
Stat ad by the U.P.
i four States was passedy fhe o wi fem wn d Fa i gan |

Assambly 7

(A) 24-11-2011
(B) 21-11-2011
(C) 22-11-2011

(D) 23-11-2011

(A) 24-11-2011

(B) 21-11-2011

(C) 22-11-20M

(D) 23-11-2011
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124,

125.

126.

Which one of the following provisions
deal with the privileges and immunities
of the Members of Parllament under the
Constitution of India 7

(A) Article 104

(B) Article 105

(C) Article 82

(D) Article 117

The maximum geographical area of
Chhattisgarh stale is under

(A) Mountains

(B} Plains and river basing

(C) Plateau

(D) Pals

It tha arithmetic mean of 25, 17,19, x
is 19, then the value of x is

(&) 21

(B) 14

{C) 13

(D} 15

£ Josh

124, Folfim 4 o =9 @ w ol yidm

il o e st oo e

a1 FfEmal w1 Fifm s 7

(A) = 104

(B) sf== 105

(C) wig=e B2

(D) siqube 117

125.

aHtETy T %1 gaitts WmfEs &
e #

(A) wETEl 6
(B) f=mi o AR & afie
(C) 9l %

(D) 7=

126. 4f 25, 17, 19, x F1 5O 911 19 0,

x T T B

(A) 21

(B8) 14

(C) 13

) 15
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127. With which among the following
countries, India has recently signed
bilateral Aviation Safety Agreement
(BASA) 7

(A) Australia
(B) Canada
(C) US
(D) UK
128. Which one of the following is not

included in the ‘Union List'® aof the
Constitution of India ?

(A) Defence
(B) Foreign Affairs
{C) Railways

(D) Agriculture

120, Maikal Mountain range is not a part of
which of the following districts of
Chattisgarh ?

{A) Rajnandagaon
(B) Kawardha
(C) Raigarh

(D) Bilaspur

127, F= A o e T F o w2 TdoE o
fraeftr R A whide ' @firmn)

W gomen B R 7
(A) smfern
(B} ==
(C) q.¥H. (US)
(D) %.3. (UK)
128, Fe 8 @ #m w fem wwdte @fae
‘et @ et R
(A) Tan
(B) Fafirs wma
(C) e
(D) F
120, BTy vea & Fm wAeE i & e v
#uft Formra wm wE R 7
(A) T TiE
(B) wEH
(C) TaTE

(D) Femag
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130.

131,

132,

133.

If the median of the distribution 10, 12,

13,18, x, 20, 25, 30 Is 18, then the value
of % is

{A) 18
(B) 16
{C) 20
(D) 22
As per the recent data, which among

the following is the top state in terms of
number of domestic tourist visits 7

(A) Andhra Pradesh
(B) Uttar Pradesh
(C) Goa

(@) Rajasthan

How many members are nominated in
the Legislative Council of Uttar Pradesh
by the State Governor 7

(A) 1/10 of the total members
(B) 1/8 of the total members
(C) 1/7 of the total members
(D) 1/6 of the total members

Which of the following district Is part of
Marmada basin 7

(A) Rajnandgaon
(B) Raipur
{C) Bastar
(D) Korba

130.

131.

132,

133

af w1 10, 12, 13, 16, x, 20, 25, 30H
mies 18 ¢, A x i AE &

(A) 18
(B) 16
(C) 20
(D) 22
Fium = & mw w, fom # & S

w d faw & s SR (e
et 1 v W i

(A) S T

(B) I W&

(C) T

(D) T

TR wim F) faum ofmez & oerme g
fira wEEE it wAr fn e 7

(A) Fet wewl =1 1/10

(B) F=t wawd! &1 1/8

(C) T Bl AT

(D) F=t Taed w1 1/6

i § & WA T AHE Jfim woam
27

(A) T

(B) TR

(C) 5T

(D) =
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134. The medianofthe 2,3,4,5,7,1,8is
(A) 4
(B) 5
<7
(D) 11

135, Which among the following is the Top
State in India in terms of Foreign Tourist
Visits 7

(A) Rajasthan
(B) Goa

(C) Maharashtra
(D) Delhi

136. Which of the following is not true about
the Anti-Defection Bill 7

(&) An M.P. or an M.L.A. will be
disqualified it he has voluntarily
given in the membership of the
party to which he belonged.

(B) In the event of a member's
absence Irom voting in the house
on a particular issue tha M.P. or
M.LA. will be disqualified.

(C) A member shall niot be disgualified
if there is a merger of political
parties.

(D) The Speaker of the Lok Sabha will
not be disqualified if he becomes
a member of anolher political party
later on.

£ Josh
134, W22, 3, 4,5,7, 1, 8% i #
(A) 4
(B) 5
C) 7

(D} 1

135. fm # ¥ vira w1 ¥ e Rl R
2 w=h wifter s R 7

(A) TI=2TA
(B) T

(C) wenmg
(D) Faeeh

136, T A soaee R fankes & oy
HFmuaa g g ?

(A) T wTEE a1 P s FeE S
of2 3E 38 7@ ) wEE E=aTEE
7w A gt frm | = watEm )

(B) et wom % wen 1 ff Fem g w
FrETE TEE & sruiefa s T
W 39 Hiwe 1 AT A e
AR |

(C) Freft e W) A T SmTEm WEIT
Az Tt ==l = aaET e B

(D) wier w3 waTai ) 3 T Se
R af g e e e e
TR I U w A R
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137. The average annual rainfall of 137, BTy T Y i A i 8

Chhattisgarh is
(A) 1400-1425 fiy o,
(A) 1400-1425 m.m.

(B) 1390-1400 m.m. (B) 1390-1400 fad,

(C) 1425-1450 m.m. (C) 1425-1450 fi i,
(D) 1300-1325 m.m. (D) 1300-1325 ..
138. Mode of the distribution 3, 5, 7, 4, 2, 138, WA 3,5,7,4,2,1,4, 3, AT EgeE
1,4,3,4is w2
(A) 2
(B) 5
(B) 5
(c) 3 (c) 3
(D) 4 (o) 4

189. Who Is the Managing Director (MD) of | 139 fawett #2) 1= wiiTR (DMAC) % Fiam

Delhi-Metro Rall Corporation (DMRAC) Y P w7
at prasent 7 _

() #t wfere
{A) Shri Mangoo Singh
(B) Shri E. Shridharan (B) 4 3. A
(C) Shri M. Gopalan (C) it mm, e
(D) None of these (D) 7 & = =

140, Which of the following is the subject of 140, fror & @ #F m R et o1 2 7
Concurrent List 7

(A) Police LYRGL
(B) Criminal matters (B) s wwe
(C) Radio and Television (C) e afw 3l

(D) Foreign Affairs (D) Feh
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141,

142.

143.

144,

Which is the main coal producing area
of Chattisgarh 7

(A) Korba
(B) Mand-Raigarh
(C) Sonhat

(D) Lakhanpur

In the following Positional mean is
(A) Arithmatic mean

(B) Madian

(C) Geomatrical Mean

(D) Mone of the above

In which member of Pariament, the
best Padiamentarian Prize 2009 was
awardad 7

(A) Shn. Jaswant Singh
(B} Shri. Mohan Singh
(C) Shri. Balkrishan Shama

(D) Dr. Muri Manchar Joshi

A Panchayat Samiti at the Block level is
(A) An Advisory Body
(B) An Administrative Authority

(C) A Consultant Committee

(D) A Supervisory Authority

142,

143,

144,

P forfiam o foufy e 8
(A} GPTeHTS 7T

(B)

(C) i wrem

(D) T # & = 7

T 2000 WA ERE Wi vl dm wm &
fortl gt fm man 7

(A) oft. T e

(B) =, e fiw

(C) =i, srerpem i
(D) =1, 7red v Seft

=l TR 9T T wh €
(A) el fwm

(B) o Wit
(C) wmiia wiufd

(D) T it
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145. What was tha sex-ratio in Chattisgarh
according to the Gensus of India 20017

(A) 989
(B) 932
(C) 956
(D) 996
146. The mean of 5 numbers is 18. If one

number is excluded, then mean

becomas 16. The excluded number is
(A) 30
(B) 18
(C) 24
(D) 26
147. Who was the Chief Guest in the Indian
Republic Day Celebration 2007 7
(A) Nicolous Sarkozi
(B) Bladimir Putin
(C) Yingluck Shinawatra

D} Mohammad Khatmi

145. = 2001 ¥ W@ F I F FTER
w1 -l g R @ 7

(A) 988
(B) 932
(C) 956
(D) 996
146, i dEme w sfem 188 ) 7R T w0

v & I & & siem 16 B = & | T

Rf N A
(A) 30
(B) 18
(C) 24
(D) 26
147. =4 2007 % wrdta TR FARE § TE
wfaf o 7
(A) Trpreve Rt
(B) =i IR

(C) Fimes frmm

(D) HremTE e
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148.

149,

150.

The provisions ragarding division of
taxes between the Unbon and the States

(A} Can be suspended during financial
emergency.

(B) Can be suspended during Mational
Emergency.

(C) Cannot be suspended under any
circumstances.

(D) Can be suspended only with the
consent of majority of the State
Legislatures.

Which of the following is not a harbour ?
(A) Kandla

(B) Cochin

(C) Bengaluru

() Mangalore

The average age ol six membaer
family Is 22 years. If the age of
youngest member is 7 years, then the

average age of the family at the time
of birth of the youngest member was

(A} 18 years
(B) 20 years
(C) 16 years

(D) 19 years

148,

149,

150.

oY uE T & A w1 F e g
WA

(&) e sram % oo Bafda
wFAT R |

(B) dta s % owg Fefem fEma

qFEME

(C) Bt oft oftfrfy o Frefem = fen
mEsEa

(D) e Tt o Rfiedt # g
ety & o RefEm Fmowsm

= o 3 e e T R 7
(A) Figem
(B) wifeam

(C) =Tegs
(D) e

6 wew| A fad) aftaw 6 sfhea sy 22
iR e fiagraa
a1 70 HeE % 9N % AOd g W)
sier =

(A) 187
(B) 20 =4
(C) 16 =
(D) 19 =4
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INSTRUCTIONS REGARDING METHOD A WA ) Wt i
- EE_J}_I'-IEWE FIIME l:H.I EETIGHE - o _
[Piansamaﬂlachﬂalle\tPanﬂnlﬂ (e werek wTm wfywe = w P UE W)
1. Method of Marking Answer : 1. vk w wiven
To give an answer, please darken N
one bubble out of the given four, In ot 20 ford oo o 3 fea &
the OMR Answer Sheet against that wemfAm wd W e # B4 @ AR i
question. # dwrere T i W T e
2. Valuation Procedure ;
2, syt wyfh |

There are four answars to a quastion,
only one of them Is corract / nearky
correct. 02 Mark will be awarded for
each correct / naarly cormect answer,
if more than one bubble are darkenead
for a question, it will be presumae that
the candidate does not know the
correct answer hence no mark.

e e W W W T #,
& omm owl [ e wE R T
Wt / v wlt e odfem w03 0 02 3
uren wih ofl o & v e wE e
E o wrn wmdm w5 o o
) TR o mrem B e 38 5 o e

fed wdm |
4. Handing over of Answer Sheet to

Invigllator : x

':; BPIE::'; ensure that all the entries in 3. Tm Yk e ) |
the answer sheel are filled up (1) W Wy e 2  weet ifrem
properly i.e. Name, Roll No., w # fie Tm-vfie & 2 gt o
Signatures, Question Booklet No. i d@ am, e, wwneR
atc. ' - & e, anft Prafia wm

(i} Before the limitation of Two and nyw-Fw gt @ §
half hours duration while leaving (1) % Y G o when T

the examination hall, hand over the

question paper to the invigilator. If oYy W WA A T I

neadad, aftar duration of period, wt | oft smevaw gan @ ww A
you can ask for your question TreTn WS @ AT WA - AT
paper from the Centre e e f

Superintendent,

4. CareinHandiing the Anawer Sheet: 4. Fvaite & Toom # A
While using anawer sheet adequate IACAE F1 WA FTA w0 W

care should b taken 1o tear or spoll wiaarll @ | g we, Higd 0 v
due to folds or wrinkies, I E EUE A e E

45 |



JAGRAN

£ Josh

TS T JaT URFENS qdieT 2011 : AT eI UH-uF

snflgorg ale dar sngler, TIYe

0 VAT R Tier—2011

MODEL ANSWER

SUBJECT - GENERAL STUDIES

SET-C

mn_ﬂnﬂ_tnnhlcnl_ﬂannBDBAHBUEA
o EEEEEEEEEEEEEEEEEEEEEEEEE
3 m| of <|"<| of «| <| o] <| of @ of of & 0] ® e of w o of & @ =» =
ELEEEEEEEEEEEEEEEEEEEEEER
m.chﬁacnﬁnnhun.l!u.ﬂnAn..nc.nn.nu.c
m_nnummmmmMnn_nu_nmmmmmuwmmmm
.mnccn__n.niﬂ.nﬂul_l.nﬂnncADBHBHDDA
%munﬂamwﬁwm—Fiummmumwnnnuﬁ
m—c.ﬂn!_cun_ﬂhllmn_n_D....A.HB.EDBBHDD
m.m_w_um_mmmum.nx_#unmuua«ﬁmﬂmwm
m_n.__..nc_:n..n..nn.__.n_n_l.nBDH—HDDGAGHE&E.
M‘..Lz_aiﬂu.rﬂl—w"ﬁﬂ,ﬁuw_mﬁmﬂmhﬂnmuu_

46 |




